UNIT 5 B REVIEW SHEET 5}4 @t

. A particle moves along the x- axis so that its position at time t is given by x{(¢) = 1> — 61 +5 . For

what value of t is the velocity of the particle zero?
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. The position of a particle is given by the formula, x =2+ +1. At t=1, which of the
following statements is correct? Circle each CORRECT STATEMENT.
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C I Its spéé& is irﬁérééisfihg IT) Its speed is decreasing ~ III) Acceleration=0

. A particle moves along the x- axis with velocity at # > 0 given by v(f) = —1+¢'"'. You may use
your calculator! R

a. Find the acceleration of the particle at time t= 3.
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b. Is the speed of the particle increasing at time t= 3?7 Explain (in words) your
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C. Find all values of t at which the particle changes direction. Justify your answer.
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d. What is the acceleration the first time velocity =0? V(¢ W%(p & 68’\)
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e. Find the average acceleration on [1, 5].
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4. The volume of a cone (V = %m’zh) is increasing at the rate of 47 cubic inches per second. At

the instant when the radius of the cone is 2 inches, its volume is 8 7 cubic inches and the
radius is increasing at 1/3 inch per second. 4 v/ — w2
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9 a. At the instant when the radius of the cone is 2 inches, what is the rate of change of
the area of its base? Include units.
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&fl = & @ h b. At the instant when the radius of the cone is 2 inches, what is the rate of change of
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its height? Include units.
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5. Mr. Sawyer is supposed to meet his wife and kids at the port of Albany for a nice boat ride one
sunny afternoon. Unfortunately, Sawyer falls asleep. Sawyer’s wife is so mad; she gets on the
Dutch Apple Cruise Ship without him at 2:00 pm. The Dutch Apple sails west at a rate of 8
miles per hour. Sawyer gets to the port as soon as possible and accidentally gets on the JP
Morgan Cruise Ship at 3:00 pm. The JP Morgan sails south at a rate of 9 miles per hour. At
what rate are the ships (and Sawyer and his family) moving apart at 5:00 pm?

Other toptcs on this exam: Limits, IVT, MVT, POI, Derivative Rules, Tangent lines, Implicit differentiation, I*'
and 2" Derivative Tests.




